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T FERHERE 3 1 - - 2 - 3 1 2 -
100. 0 33.3 - - 66.7 - ] 100.0 33.3 66.7 -
EVEoY - - - - - - - - - -
EVEIEES - - - - - - - - - -
E\EE (FOMTYT) 272 85 53 24 106 4 272 85 183 4
100.0 31.3 19.5 8.8 39.0 1.5 | 100.0 31.3 67.3 1.5
mEE - - - - - - - - - -
7 XkEEHK (2KH)
FS475— (1EEB) 166 166 - - - - 166 166 - -
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100.0 35.6 15.1 58.9 8.2 15.1 4.1 27.4 9.6 6.8
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E5]ic) 91 25 23 25 13 7 3 - 1 17 33 -
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A - R (BEIRBER LS
= [ I8 52 7 6 3 5 8 3 5 - 8 22 1
100.0 13.5 11.5 5.8 9.6 15.4 5.8 9.6 - 15.4 42.3 1.9
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i Epas 7 1 - - - 1 - - - 2 5 -
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B e60mitLlL 99 18 18 18 18 3 3 1 - 19 45 -
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100.0 17.8 17.8 20.5 17.8 8.2 4.1 2.7 2.7 15.1 39.7 2.7
T EEHERZ 4 1 - - - 1 - - - 1 3 -
100.0 25.0 - - - 25.0 - - - 25.0 75.0 -
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100.0 - 67.9 3.6 - - 10.7 7.1 28.6 3.6 -
KHE 7 - 4 - 1 - - 2 - - -
100.0 - 57.1 - 14.3 - - 28.6 - - -
TR 13 - 1 9 - - - - 3 1 -
100.0 - 7.7 69. 2 - - - - 23.1 7.7 -
PR 10 10 - - - - 6 3 - - -
100.0 100.0 - - - 60.0 30.0 - - -
\mmE - - - - - - - - - - -
B2 &
2 0mMUT 81 52 26 13 4 2 25 13 7 1 -
100.0 64.2 32.1 16.0 4.9 2.5 30.9 16.0 8.6 1.2 -
3 0t 77 51 23 14 3 1 23 16 7 3 -
100.0 66. 2 29.9 18.2 3.9 1.3 29.9 20.8 9.1 3.9 -
4 0m%it 83 43 28 10 3 1 25 17 2 1 -
100.0 51.8 33.7 12.0 3.6 1.2 30. 1 20.5 14.5 1.2 -
50mft 134 78 43 11 3 2 28 41 17 - -
100.0 58.2 32.1 8.2 2.2 1.5 20.9 30.6 12.7 - -
6 Om%it 97 59 27 10 4 4 30 25 14 3 -
100.0 60. 8 27.8 10.3 4.1 4.1 30.9 25.8 14.4 3.1 -
7 OEftLLE 75 48 20 7 4 8 20 14 7 3 -
100.0 64.0 26.7 9.3 5.3 10.7 26.7 18.7 9.3 4.0 -
RS 7 1 3 - - - - - 5 - -
100. 0 14.3 42.9 - - - - - 71.4 - -
- FLE
Bt 2K 322 207 93 31 12 10 96 78 40 8 -
100.0 64.3 28.9 9.6 3.7 3.1 29.8 24.2 12.4 2.5 -
B 20 - 30BRUT 93 66 28 15 5 3 30 21 7 2 -
100.0 71.0 30. 1 16. 1 5.4 3.2 32.3 22.6 7.5 2.2 -
B 40 508/ 127 72 40 9 5 1 32 34 19 1 -
100.0 56. 7 31.5 7.1 3.9 0.8 25.2 26.8 15.0 0.8 -
B 6 0mMALULE 99 69 25 7 2 6 34 23 11 5 -
100.0 69.7 25.3 7.1 2.0 6.1 34.3 23.2 11.1 5.1 -
Bt FHEDZ 3 - - - - - - - 3 - -
100.0 - - - - - - - 100.0 - -
T £ 230 123 77 34 9 8 54 47 29 3 -
100.0 53.5 33.5 14.8 3.9 3.5 23.5 20. 4 12.6 1.3 -
ZH 20- 30BARAUT 64 36 21 12 2 - 18 7 7 2 -
100.0 56. 3 32.8 18.8 3.1 - 28.1 10.9 10.9 3.1 -
% 40 -508K 89 48 31 12 1 2 20 24 10 - -
100.0 53.9 34.8 13.5 1.1 2.2 22.5 27.0 11.2 - -
ZH 6 0FmMALLE 73 38 22 10 6 6 16 16 10 1 -
100.0 52.1 30. 1 13.7 8.2 8.2 21.9 21.9 13.7 1.4 -
i FHERE 4 1 3 - - - - - 2 - -
100.0 25.0 75.0 - - - - - 50.0 - -
4RI Z Dtk 1 1 - - - - - 1 - - -
100.0 100.0 - - - - - 100.0 - - -
4 Bl 4 @] 1 1 - - - - 1 - - - -
100.0 100.0 - - - - 100.0 - - - -
\mMEE - - - - - - - - - - -




130 —RXE

FEHMX R - ) x ¥ - FHK

e o J 7 g = L B z
1T &% R T 7] = v £ )
B B iR - ) . AN 2 H fth =
= = [ £ x h H 5]
# P3 * . | &
i AN %
~ =z ﬁ%
/\
2
BE 2K 156 140 18 22 3 5 61 51 10 7 -
100. 0 89.7 11.5 14. 1 1.9 3.2 39. 1 32.7 6.4 4.5 -
BiE &K 99 91 10 12 2 2 40 35 6 4 -
100.0 91.9 10. 1 12.1 2.0 2.0 40. 4 35.4 6.1 4.0 -
B 20-30FKLUT 30 29 3 5 1 - 12 11 1 - -
100. 0 96. 7 10.0 16.7 3.3 - 40.0 36. 7 3.3 - -
Bt 40-508K 39 34 4 2 1 - 14 17 5 1 -
100.0 87.2 10.3 5.1 2.6 - 35.9 43. 6 12.8 2.6 -
B 6 0L 30 28 3 5 - 2 14 7 - 3 -
100. 0 93.3 10.0 16.7 - 6.7 46. 7 23.3 - 10.0 -
Bt EHERE - - - - - - - - - - -
T 2 56 48 8 10 1 3 20 16 4 3 -
100. 0 85. 7 14.3 17.9 1.8 5.4 35.7 28. 6 7.1 5.4 -
X 20 - 30EAUT 22 19 3 7 - - 11 1 2 2 -
100. 0 86. 4 13.6 31.8 - - 50.0 4.5 9.1 9.1 -
% 40 - 508t 20 19 1 2 - - 8 9 2 - -
100.0 95.0 5.0 10.0 - - 40.0 45.0 10.0 - -
Z 6 0L 14 10 4 1 1 3 1 6 - 1 -
100. 0 71.4 28. 6 7.1 7.1 21. 4 7.1 42.9 - 7.1 -
i FEHERE - - - - - - - - - - -
R Dt - - - - - - - - - - -
4 ) R [0 2 1 1 - - - - 1 - - - -
100.0 100. 0 - - - - 100. 0 - - - -
U - hEE (EREELS) 126 11 69 15 2 - 10 9 31 2 -
100. 0 8.7 54.8 11.9 1.6 - 7.9 7.1 24.6 1.6 -
Bt &K 69 6 35 6 1 - 5 7 21 2 -
100. 0 8.7 50. 7 8.7 1.4 - 7.2 10. 1 30. 4 2.9 -
Bt 20 - 30mMKLT 15 3 9 2 - - 3 1 1 2 -
100. 0 20.0 60.0 13.3 - - 20.0 6.7 6.7 13.3 -
B 40-508EK 32 2 15 4 - - 1 4 10 - -
100. 0 6.3 46. 9 12.5 - - 3.1 12.5 31.3 - -
Bt 6 0mMLULE 19 1 11 - 1 - 1 2 7 - -
100.0 5.3 57.9 - 5.3 - 5.3 10.5 36.8 - -
Bt FHERZ 3 - - - - - - - 3 - -
100. 0 - - - - - - - 100. 0 - -
T 2K 57 5 34 9 1 - 5 2 10 - -
100.0 8.8 59. 6 15.8 1.8 - 8.8 3.5 17.5 - -
T 20 - 30WmELT 17 2 11 1 - - 2 - 2 - -
100. 0 11.8 64.7 5.9 - - 11.8 - 11.8 - -
% 40 -50ER 22 1 13 4 - - 2 1 5 - -
100. 0 4.5 59. 1 18.2 - - 9.1 4.5 22.17 - -
M 6 0L 15 2 8 4 1 - 1 1 2 - -
100. 0 13.3 53.3 26. 7 6.7 - 6.7 6.7 13.3 - -
T FHEEE 3 - 2 - - - - - 1 - -
100. 0 - 66. 7 - - - - - 33.3 - -
TR Z D ith - - - - - - - - - - -
T4 B £ 0] 2 - - - - - - - - - -
EEZE (F0fT) 7) 272 181 83 28 16 13 80 66 28 2 -
100.0 66. 5 30.5 10.3 5.9 4.8 20.4 24.3 10.3 0.7 -
IR - - - - - - - - - - -
7 KEERZH (2EH)
cS475— (1EB) 166 109 50 21 9 12 47 29 13 2 -
100.0 65. 7 30. 1 12.7 5.4 7.2 28.3 17.5 7.8 1.2 -
JE—4— (2@UL) 380 222 119 43 12 6 104 95 52 9 -
100. 0 58. 4 31.3 11.3 3.2 1.6 27.4 25.0 13.7 2.4 -
i ERaS 8 1 1 1 - - - 2 4 - -
100.0 12.5 12.5 12.5 - - - 25.0 50.0 - -
SR B
JRERBEHRER (LA 225 58 152 46 14 2 37 10 8 6 -
100. 0 25. 8 67.6 20. 4 6.2 0.9 16. 4 4.4 3.6 2.7 -
BEREZH (BN 266 259 14 19 5 16 112 96 24 4 -
100.0 97. 4 5.3 7.1 1.9 6.0 42.1 36. 1 9.0 1.5 -
BMESA (LVY) 63 15 4 - 2 - 2 20 37 1 -
100. 0 23.8 6.3 - 3.2 - 3.2 31.7 58.7 1.6 -
O % - - - - - - - - - - -
%-1-66




M13Q@ ZXX&E
B3 XKiHEH
J % 23 g £ L A E B Z =
R ] i )| S v 4 £ =) ) L
B £ N N N 2 2 H 7 fth ~ 23
T = 3 2 =z vl | = T 1% Bl
8 | 'IJ £ =y
& (K 554 19 135 110 24 15 164 91 97 118 19 33 1
100.0 3.4 24.4 19.9 4.3 2.7 29.6 16. 4 17.5 21.3 3.4 6.0 0.2
ESHX 114 3 26 20 1 1 24 35 14 10 3 14 -
100.0 2.6 22.8 11.5 0.9 0.9 21.1 30.7 12.3 8.8 2.6 12.3 -
- Lov— 263 12 70 60 17 14 94 26 34 83 11 8 1
100.0 4.6 26. 6 22.8 6.5 5.3 35.7 9.9 12.9 31.6 4. 3.0 0.4
12E - SAEAR 88 2 18 15 1 - 29 13 27 14 - 4 -
100.0 2.3 20.5 17.0 1.1 - 33.0 14.8 30.7 15.9 - 4.5 -
1~3DENTHHELNEFDMH 88 2 20 14 5 - 17 17 22 11 5 7 -
100.0 2.3 22.7 15.9 5.7 - 19.3 19.3 25.0 12.5 5.7 8.0 -
EEZE 1 - 1 1 - - - - - - - - -
100. 0 - | 100.0 | 100.0 - - - - - - - - -
EEH (BRI U T)
dviEE - =it 17 2 9 2 - 1 1 3 2 4 - 3
100.0 11.8 52.9 1.8 - 5.9 5.9 17.6 1.8 23.5 - 17.6 -
(B 156 2 42 33 6 5 55 24 21 45 3 10 1
100.0 1.3 26.9 21.2 3.8 3.2 35.3 15. 4 13.5 28.8 1.9 6.4 0.6
dbpE - i 94 4 21 21 7 4 40 12 7 24 4 2 -
100.0 4.3 22.3 22.3 7.4 4.3 42.6 12.8 7.4 25.5 4.3 2.1 -
L 91 7 26 15 4 4 34 10 16 22 4 2 -
100.0 7.7 28.6 16.5 4.4 4.4 37.4 11.0 17.6 24.2 4.4 2.2 -
hE - mE 25 1 3 6 2 1 8 5 4 4 1 - -
100.0 4.0 12.0 24.0 8.0 4.0 32.0 20.0 16.0 16.0 4.0 - -
JUM - iR (RIREERLIS) 126 3 25 29 4 - 14 26 37 16 7 9 -
100.0 2.4 19.8 23.0 3.2 - 1.1 20. 6 29.4 12.7 5.6 7.1 -
ERBE 45 - 9 4 1 - 12 11 10 3 - 7 -
100.0 - 20.0 8.9 2.2 - 26.7 244 22.2 6.7 - 15.6 -
EMEZ - - - - - - - - - - - - -
S - iR (BRIREELS)
2R 52 3 3 12 2 - 2 10 17 7 3 3 -
100.0 5.8 25.0 23. 1 3.8 - 3.8 19.2 32.7 13.5 5.8 5.8 -
EEE 6 - 1 - 1 - 3 - 1 1 - 1 -
100.0 - 16.7 - 16.7 - 50.0 - 16.7 16.7 - 16.7 -
RixE 10 - 1 2 1 - - 2 5 1 - 1 -
100.0 - 10.0 20. 0 10.0 - - 20. 0 50. 0 10.0 - 10.0 -
BEARIE 28 - 5 6 - - 4 7 9 3 1 2 -
100.0 - 17.9 21.4 - - 14.3 25.0 32.1 10.7 3.6 7.1 -
K8 7 - 2 2 - - 2 2 - 2 1 - -
100.0 - 28.6 28.6 - - 28.6 28.6 - 28.6 14.3 - -
= 13 - 3 3 - - - 5 4 - 2 - -
100.0 - 23. 1 23. 1 - - - 38.5 30.8 - 15. 4 - -
iR R 10 - - 4 - - 3 - 1 2 - 2 -
100. 0 - - 40.0 - - 30.0 - 10.0 20.0 - 20.0 -
A% - - - - - - - - - - - - -
2 i
20 LUT 81 4 33 16 2 1 13 6 13 19 1 7 -
100.0 4.9 40.7 19.8 2.5 1.2 16.0 7.4 16.0 23.5 1.2 8.6 -
30mtt 77 2 20 21 2 1 25 13 9 17 4 3 -
100.0 2.6 26. 0 27.3 2.6 1.3 32.5 16.9 1.7 22. 1 5.2 3.9 -
4 Om%ft 83 2 28 23 3 1 22 10 12 23 5 6 -
100.0 2.4 33.7 27.7 3.6 1.2 26.5 12.0 14.5 27.7 6.0 7.2 -
5 0 mgft 134 5 27 20 5 2 53 18 27 30 5 2 1
100.0 3.7 20. 1 14.9 3.7 1.5 39.6 13. 4 20. 1 22.4 3.7 1.5 0.7
6 Omft 97 5 12 16 4 4 32 21 19 14 2 9 -
100.0 5.2 12.4 16.5 4.1 4.1 33.0 21.6 19.6 14. 4 2.1 9.3 -
7 OEftLLE 75 1 15 13 8 6 19 22 12 14 2 6 -
100.0 1.3 20.0 17.3 10.7 8.0 25.3 29.3 16.0 18.7 2.7 8.0 -
EIEES 7 - - 1 - - - 1 5 1 - - -
100. 0 - - 14.3 - - - 14.3 71.4 14.3 - - -
- FLE
Bt £ 322 11 76 54 14 9 107 51 55 64 0 21 -
100.0 3.4 23.6 16.8 4.3 2.8 33.2 15.8 17.1 19.9 3.1 6.5 -
B 20 30mKUT 93 2 28 22 4 2 28 7 10 22 5 6 -
100.0 2.2 30. 1 23.7 4.3 2.2 30. 1 7.5 10.8 23.7 5.4 6.5 -
Bt 40-505%K 127 5 32 17 7 - 49 16 24 27 3 4 -
100.0 3.9 25.2 13.4 5.5 - 38.6 12.6 18.9 21.3 2.4 3.1 -
Bt 6 0mfLLE 99 4 16 15 3 7 30 28 18 15 2 11
100.0 4.0 16.2 15.2 3.0 7.1 30.3 28.3 18.2 15.2 2.0 11.1 -
Bt FHEDZ 3 - - - - - - - 3 - - - -
100.0 - - - - - - - 1100.0 - - - -
T £ 230 8 58 55 10 6 57 39 41 54 9 12 1
100.0 3.5 25.2 23.9 4.3 2.6 24.8 17.0 17.8 23.5 3.9 5.2 0.4
% 20 - 30mRLUT 64 4 24 14 - - 10 12 12 14 - 4 -
100. 0 6.3 37.5 21.9 - - 15.6 18.8 18.8 21.9 - 6.3 -
ZH 40-50EK 89 2 23 26 1 3 26 11 14 26 7 4 1
100.0 2.2 25.8 29.2 1.1 3.4 29.2 12.4 15.7 29.2 7.9 4.5 1.1
M 6 0OmMRLLE 73 2 11 14 9 3 21 15 13 13 2 4 -
100.0 2.7 15. 1 19.2 12.3 4.1 28.8 20.5 17.8 17.8 2.7 5.5 -
it FHERE 4 - - 1 - - - 1 2 1 - - -
100.0 - 25.0 - - - 25.0 50. 0 25.0 - -
4RI Z Dtk 1 - 1 1 - - - - - - - - -
100.0 - | 100.0 | 100.0 - - - - - - - - -
ERIEEES i - - - - - - 1 1 - - - -
100.0 - - - - - - | 100.0 | 100.0 - - - -
A% - - - - - - - - - - - - -
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BE 2K 156 2 42 33 6 5 55 24 21 45 3 10 1
100.0 1.3 26.9 21.2 3.8 3.2 35.3 15.4 13.5 28.8 1.9 6.4 0.6
Bt 2K 99 1 21 19 3 3 37 15 14 22 3 9 -
100.0 1.0 21.2 19.2 3.0 3.0 37.4 15.2 14.1 22.2 3.0 9.1 -
Bt 20 30%KKUT 30 - 6 8 1 1 11 2 5 11 2 1 -
100.0 - 20.0 26.7 3.3 3.3 36.7 6.7 16.7 36.7 6.7 3.3 -
B 40 508/ 39 1 9 7 1 - 19 5 5 9 - 2 -
100.0 2.6 23.1 17.9 2.6 - 48.7 12.8 12.8 23. 1 - 5.1 -
Bt 6 0mMRLILE 30 - 6 4 1 2 7 8 4 2 1 6 -
100.0 - 20.0 13.3 3.3 6.7 23.3 26.7 13.3 6.7 3.3 20.0 -
Bt FHEDZ - - - - - - - - - - - - -
T £ 56 1 21 14 3 2 18 8 6 23 - 1 1
100.0 1.8 37.5 25.0 5.4 3.6 32.1 14.3 10.7 41.1 - 1.8 1.8
ZH 20 30BARAUT 22 1 11 6 - - 1 5 4 8 - 1 -
100.0 4.5 50.0 27.3 - - 4.5 22.7 18.2 36. 4 - 4.5 -
M 40 508/ 20 - 8 6 - 2 8 2 1 10 - - 1
100.0 - 40.0 30.0 - 10.0 40.0 10.0 5.0 50.0 - - 5.0
ZH 6 0mMAUL 14 - 2 2 3 - 9 1 1 5 - - -
100.0 - 14.3 14.3 21.4 - 64.3 7.1 7.1 35.7 - - -
i FEHERE - - - - - - - - - - - - -
TR Z Dtk - - - - - - - - - - - - -
4 Bl 4 B 1 - - - - - - 1 1 - - -
100.0 - - - - - - 1100.0 | 100.0 - - - -
A - HEE (BRBELS) 126 3 25 29 4 - 14 26 37 16 7 9 -
100.0 2.4 19.8 23.0 3.2 - 11.1 20. 6 29.4 12.7 5.6 7.1 -
Bt 24K 69 1 16 12 3 - 9 12 24 9 2 4 -
100.0 1.4 23.2 17.4 4.3 - 13.0 17.4 34.8 13.0 2.9 5.8 -
Bt 20 - 30mMKLT 15 - 6 4 - - 1 2 2 2 2 2 -
100.0 - 40.0 26.7 - - 6.7 13.3 13.3 13.3 13.3 13.3 -
B 40-505f 32 1 7 4 3 - 4 4 12 2 - 1 -
100.0 3.1 21.9 12.5 9.4 - 12.5 12.5 37.5 6.3 - 3.1 -
Bt 6 0mMtLLE 19 - 3 4 - - 4 6 7 5 - 1 -
100.0 - 15.8 21.1 - - 21.1 31.6 36.8 26.3 - 5.3 -
Bt FHERZE 3 - - - - - - - 3 - - - -
100.0 - - - - - - - | 100.0 - - - -
T £k 57 2 9 17 1 - 5 14 13 7 5 5 -
100.0 3.5 15.8 29.8 1.8 - 8.8 24.6 22.8 12.3 8.8 8.8 -
ZH 20- 30BmARALUT 17 1 4 4 - - 2 5 4 3 - 1 -
100.0 5.9 23.5 23.5 - - 11.8 29.4 23.5 17.6 - 5.9 -
¥ 40 505/ 22 - 4 9 - - 2 4 5 1 4 2 -
100.0 - 18.2 40.9 - - 9.1 18.2 22.7 4.5 18.2 9.1 -
T 6 OmMLLE 15 1 1 3 1 - 1 4 3 2 1 2 -
100.0 6.7 6.7 20.0 6.7 - 6.7 26.7 20.0 13.3 6.7 13.3 -
Tt FEHERZE 3 - - 1 - - - 1 1 1 - - -
100.0 - - 33.3 - - - 33.3 33.3 33.3 - - -
TR Z Dt - - - - - - - - - - - - -
EHEIEES - - - - - - - - - - - - -
EAE (FOMTYT) 272 14 68 48 14 10 95 41 39 57 9 14 -
100.0 5.1 25.0 17.6 5.1 3.7 34.9 15. 1 14.3 21.0 3.3 5.1 -
IR - - - - - - - - - - - - -

7 XKERH (2KH)
FSA4 75— (1[EEB) 166 5 54 42 15 9 39 19 17 53 7 11 -
100.0 3.0 32.5 25.3 9.0 5.4 23.5 11.4 10.2 31.9 4.2 6.6 -
JE—4%— (2[@ELL) 380 14 80 68 9 6 122 72 76 65 12 22 1
100.0 3.7 21.1 17.9 2.4 1.6 32.1 18.9 20.0 17.1 3.2 5.8 0.3
i ERaS 8 - 1 - - - 3 - 4 - - - -
100. 0 - 12.5 - - - 37.5 - 50.0 - - - -

S Hh A
JRERBHRER (K4LaD) 225 13 78 68 13 7 32 45 27 51 17 15 -
100.0 5.8 34.7 30.2 5.8 3.1 14.2 20.0 12.0 22.7 7.6 6.7 -
EREZTH (BN 266 6 54 41 11 8 108 46 33 53 2 17 -
100.0 2.3 20.3 15.4 4.1 3.0 40.6 17.3 12.4 19.9 0.8 6.4 -
BESA (LVY) 63 - 3 1 - - 24 - 37 14 - 1 1
100.0 - 4.8 1.6 - - 38.1 - 58.7 22.2 - 1.6 1.6
EMOE - - - - - - - - - - - - -
%-1-68
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GERESA=N.
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% 5 & + £ A % z &
& A 5 B i8 B @ i
! # f ! ¥ ¥ fte -
2 1K 460 2,100 9, 800 4,700 7,600 300 0 100| 24, 600
ECRR 101 2,100 8, 800 3,200 8,400 100 0 0| 22,600
gqlr-Lov— 204 2,400/ 10, 200 5,700 8,100 500 0 0] 26,900
IRE - FAZAM 75 1,700/ 10,100 3, 500 7,100 200 0 0] 22,600
1~3DENTHHENZ DM 79 1,900 9, 500 5,500 6, 200 100 0 300 23,500
EAE 1 2,500 6, 000 2,000 3,000 1,200 0 0| 14,700
EEH ([ERT)7)
dbimE - B’k 16 1,700 8,500 4,900 5,000 200 0 0] 20,300
B 123 2,400 10, 300 4,000 8, 300 200 0 0] 25,200
JbRE - R n 2,200 9, 600 4,300 7,000 300 0 0] 23,400
E3Lic] 79 2,400 11,100 5, 600 7,500 200 0 100| 26, 900
FE - OE 18 2,100 9, 800 5, 600 7,000 200 0 0/ 24,700
A - iR (BRBRLN) 109 1,700 9,200 4,900 8,100 400 0 0] 24,300
ERER 44 2,100 8, 000 5, 200 7,200 200 0 500 23,200
wEE - - : - - - - - -
R - (R BELUD
B 1R 40 1,300 8, 800 3,900 9,800 300 0 0/ 24,100
HER 5 1,800 5,700 2,700 6, 700 100 0 0| 17,000
RIGE 10 1,700 12,100 6, 500 5, 600 600 100 0| 26,600
N 26 2,600 9, 800 3,700 8,100 700 0 100| 25, 000
N 7 1,700 71,800 7,100 5, 800 600 0 0| 23,000
=T 12 1,200{ 11,000 9,000 6, 800 100 0 0/ 28,100
HHER 9 1,600 6, 700 5, 500 7,300 700 0 0/ 21,800
wEE - - - - - - - - -
M2 &k
2 0mARLUT 74 1,600 71,700 3, 300 5,100 300 0 100/ 18,100
3 0k 65 1,900 8,900 3,300 8,100 300 0 300f 22,800
4 0mEH 70 2,100 9, 500 4,800 9,000 300 0 0] 25,700
5 0t 110 2,600 9,700 5, 300 8,500 400 0 0/ 26,500
6 Ot 82 2,400 12,600 5, 700 7,600 200 0 0| 28,500
7 0mARE 53 2,100/ 10,100 5,900 7,400 200 0 0| 25,700
EAEE 6 1,600 8,000 2,800 3, 800 300 0 0| 16,500
T - &R
Hit £K 267 2,300 9, 500 4,200 8, 600 200 0 0| 24,800
Bt 20 30EAKAUT 82 2,000 8, 600 3,100 7,600 300 0 0| 21,600
B 40-50EK 105 2,500 8, 600 4,500 9,100 200 0 0] 24,900
Bt 6 OmHRUL 78 2,500/ 11,900 4,900 9,200 200 0 0] 28,700
Bt FRHEODE 2 1,300 9, 000 3, 500 2,500 0 0 0| 16,300
i 2R 192 1,900/ 10,100 5, 500 6, 300 300 0 100| 24, 200
T 20 30HmHKUT 56 1,300 7,800 3, 600 4,900 300 0 500| 18,400
T 4050 75 2,300/ 11,100 6, 000 8,100 500 0 0| 28,000
T 6 0mMUL 57 1,900, 11,200 7,100 5, 300 200 0 0] 25,700
i FEHERE 4 1,800 7,500 2,500 4,500 500 0 0| 16,800
451 Z D fth 1 2,500 6, 000 2,000 3,000 1,200 0 0| 14,700
MR REE - - . - - - - - -
wEE - - - - - - - - -
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R £k 123 2,400/ 10,300 4,000 8,300 200 0 0| 25,200

Hit £&K 82 2,500/ 10, 800 4,300 9, 400 200 0 0| 27,200

B 20 30mRUT 29 1,900/ 11,200 3,200 7,500 300 0 0| 24,100

B 40-50=FMK 33 3,200 9, 500 4,900/ 11,900 200 0 100| 29, 800

Bt 6 0mitlL 20 2,300f 12,200 4,800 8,100 200 0 0| 27,600

Bt EREDE - - - - - - - - -

o 2K 41 2,100 9, 500 3,300 6, 000 300 0 0| 21,200

T 20 30FBARLUT 19 1,400 8,100 2,400 4,400 100 0 0| 16,400

T 40 -50mft 15 2,800 11,500 4,400 8, 700 500 0 0| 27,900

T 6 0mMtULE 7 2,800 8, 800 3, 400 4,500 300 0 0| 19,800

kit EHEDE - - - - - - - - -
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100.0 - - 100. 0 - - - - 0.2
U - hEE (EREELS) 126 74 22 10 - - 20 - 126 3.9
100. 0 58.7 17.5 7.9 - - 15.9 - 22.9
Bt &K 69 a4 11 6 - - 11 - 69 3.9
100. 0 59. 4 15.9 8.7 - - 15.9 - 12.5
Bt 20 - 30mMKLT 15 11 2 - - - 2 - 15 4.2
100. 0 73.3 13.3 - - - 13.3 - 2.7
B 40-508EK 32 19 5 3 - - 5 - 32 3.9
100. 0 59. 4 15.6 9.4 - - 15.6 - 5.8
Bt 6 0mitLlE 19 10 3 3 - - 3 - 19 3.7
100.0 52.6 15.8 15.8 - - 15.8 - 3.4
Bt FHERZ 3 1 1 - - - 1 - 3 3.0
100. 0 33.3 33.3 - - - 33.3 - 0.5
T 2K 57 33 11 4 - - 9 - 57 3.9
100.0 57.9 19.3 7.0 - - 15.8 - 10.3
Mt 20 - SO0ELT 17 9 2 3 - - 3 - 17 3.6
100. 0 52.9 11.8 17.6 - - 17.6 - 3.1
% 40 -50ER 22 15 5 - - - 2 - 22 4.3
100. 0 68. 2 22.7 - - - 9.1 - 4.0
i 6 0L 15 8 3 - - - 4 - 15 3.5
100. 0 53.3 20.0 - - - 26. 7 - 2.7
T FHEEE 3 1 1 1 - - - - 3 4.0
100. 0 33.3 33.3 33.3 - - - - 0.5
TR Z D ith - - - - - - - - - -
T4 B £ 0] 2 - - - - - - - - - -
EEZE (F0fT) 7) 272 158 53 26 1 - 33 1 271 4.0
100.0 58. 1 19.5 9.6 0.4 - 12.1 0.4 49. 2
IR - - - - - - - - - -
7 KEERZH (2EH)
cS475— (1EB) 166 96 29 15 - - 26 - 166 3.9
100.0 57.8 17.5 9.0 - - 15.7 - 30. 1
JE—4— (2@UL) 380 224 78 31 1 - 43 3 377 4.1
100. 0 58.9 20.5 8.2 0.3 - 1.3 0.8 68. 4
O % 8 5 1 2 - - - - 8 4.4
100.0 62.5 12.5 25.0 - - - - 1.5
SR B
JRERBEHRER (LA 225 121 39 18 1 - 45 1 224 3.6
100. 0 53.8 17.3 8.0 0.4 - 20.0 0.4 40. 7
BEREEE (BN 266 160 56 25 - - 23 2 264 4.2
100.0 60. 2 21.1 9.4 - - 8.6 0.8 47.9
MESA (LY) 63 44 13 5 - - 1 - 63 4.6
100. 0 69. 8 20. 6 7.9 - - 1.6 - 11.4
O % - - - - - - - - - -
%-1-76




16 QERBEHMENLICI HEEM (&FF - IBEH)
3 EHEH
x ® 3 ® x Z
% ® & ® % g
HE pot il = x AN Fiii2 i E
S 2 2 i i L & =
% % e
15
&
£ K 554 176 88 37 1 - 247 5 549 2.
100.0 31.8 15.9 6.7 0.2 - 44.6 0.9 100.0
ESHRR 114 23 16 14 - - 59 2 112 2.
100.0 20.2 14.0 12.3 - - 51.8 1.8 20. 4
Bl Loy— 263 104 47 13 1 - 97 1 262 2.
100.0 39.5 17.9 4.9 0.4 - 36.9 0.4 47.17
R4 - fAEHRE 88 28 18 4 - - 36 2 86 2.
100.0 31.8 20.5 4.5 - - 40.9 2.3 15.7
1~3DENTHLHNWFDIM 88 20 7 6 - - 55 - 88 1.
100.0 22.1 8.0 6.8 - - 62.5 - 16.0
wmEE 1 1 - - - - - - 1 5.
100.0 100.0 - - - - - - 0.2
B (BRI 7)
dtiEE - ®i 17 6 1 2 - - 8 - 17 2.
100.0 35.3 5.9 11. 8 - - 471 - 3.1
5SS 156 40 29 8 - - 71 2 154 2.
100.0 25.6 18.6 5.1 - - 49. 4 1.3 28.1
JeE - hEp 94 34 15 8 - - 37 - 94 2.
100.0 36.2 16.0 8.5 - - 39.4 - 17.1
E3)ic] 91 34 10 5 - - 42 - 91 2.
100.0 37.4 11.0 5.5 - - 46.2 - 16.6
tE - "E 25 10 7 1 - - 7 - 25 3.
100.0 40.0 28.0 4.0 - - 28.0 - 4.6
A - kR (BIREBEUS) 126 38 21 8 1 - 56 2 124 2.
100.0 30.2 16.7 6.3 0.8 - 44 4 1.6 22.6
EREER 45 14 5 5 - - 20 1 44 2.
100.0 31.1 11.1 11.1 - - 44 4 2.2 8.0
mEE - - - - - - - - -
M - B (ERSEL
2R 52 11 12 5 - - 23 1 51 2.
100.0 21.2 23.1 9.6 - - 442 1.9 41.1
EEE 6 1 - - 1 - 3 1 1.
100.0 16.7 - - 16.7 - 50.0 16.7 4.0
RIFE 10 3 2 1 - - 4 - 10 2.
100.0 30.0 20.0 10.0 - - 40.0 - 8.1
AR 28 11 6 - - - 11 - 28 2.
100.0 39.3 21.4 - - - 39.3 - 22.6
RHE 7 3 - 1 - - 3 - 7 2.
100.0 42.9 - 14.3 - - 42.9 - 5.6
=y = 13 4 - 1 - - 8 - 13 1.
100.0 30.8 - 1.7 - - 61.5 - 10.5
HEEE 10 5 1 - - - 4 - 10 2.
100.0 50.0 10.0 - - - 40.0 - 8.1
mEE - - - - - - - - -
B2 &8
20mARLT 81 18 8 7 - - 48 - 81 1.
100.0 22.2 9.9 8.6 - - 59.3 - 14.8
3 0t 77 28 11 7 - - 31 - 17 2.
100.0 36.4 14.3 9.1 - - 40. 3 - 14.0
4 Ot 83 26 13 4 - - 39 1 82 2.
100.0 31.3 15.7 4.8 - - 47.0 1.2 14.9
5 0mft 134 43 28 5 1 - 56 1 133 2.
100.0 32.1 20.9 3.7 0.7 - 41.8 0.7 24.2
6 Ot 97 35 17 3 - - 41 1 96 2.
100.0 36. 1 17.5 3.1 - - 42.3 1.0 17.5
7 0FALLE 75 25 8 11 - - 29 2 73 2.
100.0 33.3 10.7 14.7 - - 38.7 2.7 13.3
EME 1 1 3 - - - 3 - 7 2.
100.0 14.3 42.9 - - - 42.9 1.3
- FEKB
B £ 322 88 55 22 1 - 153 3 319 2.
100.0 27.3 17.1 6.8 0.3 - 47.5 0.9 58.1
Bif 20 30mKUT 93 28 9 6 - - 50 - 93 2.
100.0 30.1 9.7 6.5 - - 53.8 - 16.9
B 4050t 1217 29 30 4 1 - 62 1 126 2.
100.0 22.8 23.6 3.1 0.8 - 48.8 0.8 23.0
B 60mMRLLE 99 31 15 12 - - 39 2 97 2.
100.0 31.3 15.2 12.1 - - 39.4 2.0 17.17
Bt FHEEE 3 - i - - - 2 - 3 1.
100.0 - 33.3 - - - 66. 7 - 0.5
T £ 230 87 33 15 - - 94 1 229 2.
100.0 37.8 14.3 6.5 - - 40.9 0.4 41.7
T 20 - 30mIELLT 64 17 10 8 - - 29 - 64 2.
100.0 26.6 15.6 12.5 - - 45.3 - 11.7
T 40 - 50/ 89 40 11 5 - - 33 - 89 2.
100.0 44.9 12.4 5.6 - - 37.1 - 16.2
T 6 OmfitLllL 73 29 10 2 - - 31 1 12 2.
100.0 39.7 13.7 2.7 - - 42.5 1.4 13.1
T FREDE 4 1 2 - - - 1 - 4 3.
100.0 25.0 50.0 - - 25.0 - 0.7
R Z D 1 1 - - - - - - 1 5.
100.0 100.0 - - - - - - 0.2
PRI EE 1 - - - - - - 1 -
100.0 - - - - - - 100.0 -
mEE - - - - - - - - -
B-1-77




fl16 QERSHEHEXIIHT D

STl (BFF - 1BER)

FEHMX R - ) x ¥ - FHK

X *» 3 *» X %
% » & » %z =]
e b b S S AN i HE E
=" 2 il ol i L 5] T
) & #
b0
=
BE 2K 156 40 29 8 - - 77 2 154 2.2
100. 0 25.6 18.6 5.1 - - 49 4 1.3 28. 1
BiE &K 99 21 18 4 - - 55 1 98 1.9
100.0 21.2 18.2 4.0 - - 55. 6 1.0 17.9
B 20 30FmALUT 30 6 5 1 - - 18 - 30 1.8
100. 0 20.0 16.7 3.3 - - 60.0 - 5.5
Bt 40-508K 39 7 8 - - - 24 - 39 1.7
100.0 17.9 20.5 - - - 61.5 - 7.1
B 6 0mftLlE 30 8 5 3 - - 13 1 29 2.4
100. 0 26. 7 16.7 10.0 - - 43.3 3.3 5.3
Bt EHERE - - - - - - - - - -
T 2 56 19 11 4 - - 22 - 56 2.7
100. 0 33.9 19.6 7.1 - - 39.3 - 10.2
X 20 - 30EAUT 22 5 5 1 - - 11 - 22 2.2
100. 0 22.17 22.7 4.5 - - 50.0 - 4.0
% 40 - 508t 20 8 4 3 - - 5 - 20 3.3
100.0 40.0 20.0 15.0 - - 25.0 - 3.6
it 6 0ttt 14 6 2 - - - 6 - 14 2.7
100. 0 42.9 14.3 - - - 42.9 - 2.6
i FEHEEE - - - - - - - - - -
TR Z Dtk - - - - - - - - - -
4 ) R [0 2 1 - - - - - - 1 - -
100.0 - - - - - - 100.0 -
U - hEE (EREELS) 126 38 21 8 1 - 56 2 124 2.4
100. 0 30. 2 16.7 6.3 0.8 - 44 4 1.6 22.6
Bt &K 69 20 12 5 1 - 29 2 67 2.5
100. 0 29.0 17.4 7.2 1.4 - 42.0 2.9 12.2
Bt 20 - 30mMKLT 15 6 1 - - - 8 - 15 2.3
100. 0 40.0 6.7 - - - 53.3 - 2.7
B 40-508EK 32 9 6 2 1 - 13 1 31 2.5
100. 0 28. 1 18.8 6.3 3.1 - 40. 6 3.1 5.6
Bt 6 0mitLlE 19 5 4 3 - - 6 1 18 2.8
100.0 26.3 21.1 15.8 - - 31.6 5.3 3.3
Bt FHERZ 3 - 1 - - - 2 - 3 1.3
100. 0 - 33.3 - - - 66. 7 - 0.5
T 2K 57 18 9 3 - - 27 - 57 2.4
100.0 31.6 15.8 5.3 - - 47.4 - 10. 4
Mt 20 - SO0ELT 17 4 2 3 - - 8 - 17 2.2
100. 0 23.5 11.8 17.6 - - 47.1 - 3.1
% 40 -50ER 22 10 3 - - - 9 - 22 2.8
100. 0 45.5 13.6 - - 40.9 - 4.0
i 6 0L 15 3 2 - - - 10 - 15 1.5
100. 0 20.0 13.3 - - - 66. 7 - 2.7
T FHEEE 3 1 2 - - - - - 3 4.3
100. 0 33.3 66. 7 - - - - - 0.5
TR Z D ith - - - - - - - - - -
T4 B £ 0] 2 - - - - - - - - - -
EEZE (F0fT) 7) 272 98 38 21 - - 114 1 271 2.6
100.0 36.0 14.0 7.7 - - 41.9 0.4 49. 4
IR - - - - - - - - - -
7 KEERZH (2EH)
cS475— (1EB) 166 57 21 13 - - 75 - 166 2.5
100.0 34.3 12.7 7.8 - - 45.2 - 30.2
JE—4— (2@UL) 380 118 67 23 1 - 166 5 375 2.5
100. 0 31.1 17.6 6.1 0.3 - 43.7 1.3 68. 3
O % 8 1 - 1 - - 6 - 8 1.0
100.0 12.5 - 12.5 - - 75.0 - 1.5
SAEHh s
JREREHHRER (LA 225 75 32 18 1 - 96 3 222 2.5
100. 0 33.3 14.2 8.0 0.4 - 42.7 1.3 40. 4
EREZE (HRLKR) 266 82 41 19 - - 122 2 264 2.4
100. 0 30.8 15. 4 7.1 - - 45.9 0.8 48. 1
MESA (LY) 63 19 15 - - - 29 - 63 2.5
100. 0 30. 2 23.8 - - - 46.0 - 11.5
IR - - - - - - - - - -
%-1-78




fl16 QGEREHENLICHNTZIE (BF)
3 EHEH
x ® 3 ® x Z
% ® & ® % g
HE pot il = x AN Fiii2 i E
S 2 2 i i L & =
% % e
15
&
£ K 554 348 123 40 4 - 35 4 550 4.3
100.0 62.8 22.2 1.2 0.7 - 6.3 0.7 100.0
ESHRR 114 69 29 12 - - 3 1 113 4.4
100.0 60. 5 25. 4 10.5 - - 2.6 0.9 20.5
Bl Loy— 263 173 51 12 4 - 22 1 262 4.2
100.0 65.8 19.4 4.6 1.5 - 8.4 0.4 47.6
R4 - fAEHRE 88 56 24 3 - - 4 1 87 4.4
100.0 63.6 27.3 3.4 - - 4.5 1.1 15.8
1~3DENTHLHNWFDIM 88 49 19 13 - - 6 1 87 4.1
100.0 55.17 21.6 14. 8 - - 6.8 1.1 15. 8
EMOE 1 1 - - - - - - 1 5.0
100.0 100.0 - - - - - - 0.2
B (BRI 7)
dtiEE - ®i 17 6 5 3 - 3 - 17 3.5
100.0 35.3 29.4 17.6 - - 17.6 - 3.1
5SS 156 96 37 8 1 - 12 2 154 4.2
100.0 61.5 23.7 5.1 0.6 - 1.7 1.3 28.0
JeE - hEp 94 63 20 5 1 - 5 - 94 4.4
100.0 67.0 21.3 5.3 1.1 - 5.3 - 17.1
E3)ic] 91 60 16 9 1 - 4 1 90 4.4
100.0 65.9 17.6 9.9 1.1 - 4.4 1.1 16.4
tE - "E 25 13 9 1 - - 2 - 25 4.2
100.0 52.0 36.0 4.0 - - 8.0 - 4.5
A - kR (BIREBEUS) 126 87 25 8 1 - 5 - 126 4.5
100.0 69.0 19. 8 6.3 0.8 - 4.0 - 22.9
EREER 45 23 11 6 - - 4 1 44 4.0
100.0 51.1 24.4 13.3 - - 8.9 2.2 8.0
mEE - - - - - - - - - -
M - B (ERSEL
2R 52 2 2 6 - - 2 - 52 4.3
100.0 61.5 23.1 11.5 - - 3.8 - 41.3
EEE 6 5 1 - - - - - 6 4.8
100.0 83.3 16.7 - - - - - 4.8
RIFE 10 6 4 - - - - - 10 4.6
100.0 60.0 40.0 - - - - - 7.9
AR 28 22 5 - - - 1 - 28 4.6
100.0 78.6 17.9 - - - 3.6 - 22.2
RHE 7 6 - 1 - - - - 7 4.7
100.0 85.7 - 14.3 - - - - 5.6
=y = 13 9 1 - 1 - 2 - 13 3.9
100.0 69.2 1.7 - 1.7 - 15. 4 - 10. 3
HEEE 10 7 2 1 - - - - 10 4.6
100.0 70.0 20.0 10.0 - - - - 7.9
mEE - - - - - - - - - -
B2 &8
20mARLT 81 49 16 4 1 - 1 - 81 4.0
100.0 60. 5 19.8 4.9 1.2 - 13.6 - 14.7
3 0t 77 61 11 2 - - 3 - 17 4.6
100.0 79.2 14.3 2.6 - - 3.9 - 14.0
4 Ot 83 50 20 8 1 - 4 - 83 4.3
100.0 60. 2 241 9.6 1.2 - 4.8 - 15.1
5 0mft 134 82 38 7 - - 6 1 133 4.4
100.0 61.2 28. 4 5.2 - - 4.5 0.7 24.2
6 Ot 97 62 20 10 - - 4 1 96 4.4
100.0 63.9 20.6 10. 3 - - 4.1 1.0 17.5
7 0FALLE 75 39 16 9 2 - 7 2 73 4.0
100.0 52.0 21.3 12.0 2.7 - 9.3 2.7 13.3
EME 1 5 2 - - - - - 7 4.7
100.0 1.4 28.6 - - - - 1.3
- FEKB
B £ 322 194 81 26 2 - 17 2 320 4.3
100.0 60. 2 25.2 8.1 0.6 - 5.3 0.6 58.2
Bif 20 30mKUT 93 64 17 2 1 - 9 - 93 4.3
100.0 68.8 18.3 2.2 1.1 - 9.7 - 16.9
B 4050t 1217 73 41 10 - - 3 - 1217 4.4
100.0 57.5 32.3 7.9 - - 2.4 - 23.1
B 60mMRLLE 99 55 22 14 1 - 5 2 97 4.2
100.0 55.6 22.2 14.1 1.0 - 5.1 2.0 17.6
Bt FHEEE 3 2 i - - - - - 3 4.7
100.0 66. 7 33.3 - - - - - 0.5
T £ 230 152 42 14 2 - 18 2 228 4.3
100.0 66. 1 18.3 6.1 0.9 - 1.8 0.9 41.5
T 20 - 30mIELLT 64 45 10 4 - - 5 - 64 4.3
100.0 70.3 15.6 6.3 - - 7.8 - 11.6
T 40 - 50/ 89 58 17 5 1 - 7 1 88 4.3
100.0 65. 2 19.1 5.6 1.1 - 1.9 1.1 16.0
T 6 OmfitLllL 73 46 14 5 1 - 6 1 12 4.2
100.0 63.0 19.2 6.8 1.4 - 8.2 1.4 13.1
T FREDE 4 3 1 - - - - - 4 48
100.0 75.0 25.0 - - - - - 0.7
R Z D 1 1 - - - - - - 1 50
100.0 100.0 - - - - - - 0.2
PRI EE 1 i - - - - - - 1 5.0
100.0 100.0 - - - - - - 0.2
mEE - - - - - - - - - -
%-1-79




fl16 QEREMEHEXIIHT D

i (B%)

FEHMX R - ) x ¥ - FHK

X *» 3 *» X %
% » & » %z =]
e b b S S AN i HE E
=" 2 il ol i L 5] T
) & #
b0
=
BE 2K 156 96 37 8 1 - 12 2 154 4.2
100. 0 61.5 23.7 5.1 0.6 - 7.7 1.3 28.0
BiE &K 99 59 26 6 1 - 6 1 98 4.3
100.0 59. 6 26.3 6.1 1.0 - 6.1 1.0 17.8
B 20 30FmALUT 30 23 5 - - - 2 - 30 4.5
100. 0 76. 7 16.7 - - - 6.7 - 5.5
Bt 40-508K 39 22 14 1 - - 2 - 39 4.3
100.0 56. 4 35.9 2.6 - - 5.1 - 7.1
B 6 0mftLlE 30 14 7 5 1 - 2 1 29 4.0
100. 0 46. 7 23.3 16. 7 3.3 - 6.7 3.3 5.3
Bt EHERE - - - - - - - - - -
T 2 56 36 11 2 - - 6 1 55 4.2
100. 0 64.3 19.6 3.6 - 10.7 1.8 10.0
X 20 - 30EAUT 22 15 4 - - - 3 - 22 4.1
100. 0 68. 2 18.2 - - - 13.6 - 4.0
% 40 - 508t 20 10 5 2 - - 2 1 19 4.0
100.0 50.0 25.0 10.0 - - 10.0 5.0 3.5
Z 6 0L 14 11 2 - - - 1 - 14 4.5
100. 0 78.6 14.3 - - - 7.1 - 2.5
i FEHEEE - - - - - - - - - -
TR Z Dtk - - - - - - - - - -
4 ) R [0 2 1 1 - - - - - - 1 5.0
100.0 | 100.0 - - - - - - 0.2
U - hEE (EREELS) 126 87 25 8 1 - 5 - 126 4.5
100. 0 69.0 19.8 6.3 0.8 - 4.0 - 22.9
Bt &K 69 46 16 5 - - 2 - 69 4.5
100. 0 66. 7 23.2 7.2 - - 2.9 - 12.5
Bt 20 - 30mMKLT 15 11 2 1 - - 1 - 15 4.4
100. 0 73.3 13.3 6.7 - - 6.7 - 2.7
B 40-508EK 32 19 11 2 - - - - 32 4.5
100. 0 59. 4 34.4 6.3 - - - - 5.8
Bt 6 0mitLlE 19 14 2 2 - - 1 - 19 4.4
100.0 73.17 10.5 10.5 - - 5.3 - 3.5
Bt FHERZ 3 2 1 - - - - - 3 4.7
100. 0 66. 7 33.3 - - - - - 0.5
T 2K 57 4 9 3 1 - 3 - 57 4.4
100.0 71.9 15.8 5.3 1.8 - 5.3 - 10. 4
Mt 20 - SO0ELT 17 13 3 1 - - - - 17 4.7
100. 0 76.5 17.6 5.9 - - - - 3.1
% 40 -50ER 22 16 3 - 1 - 2 - 22 4.3
100. 0 72.17 13.6 - 4.5 - 9.1 - 4.0
i 6 0L 15 10 2 2 - - 1 - 15 4.3
100. 0 66. 7 13.3 13.3 - - 6.7 - 2.7
T FHEEE 3 2 1 - - - - - 3 4.7
100. 0 66. 7 33.3 - - - - - 0.5
TR Z D ith - - - - - - - - - -
T4 B £ 0] 2 - - - - - - - - -
EEZE (F0fT) 7) 272 165 61 24 2 - 18 2 270 4.2
100.0 60. 7 22.4 8.8 0.7 - 6.6 0.7 49. 1
IR - - - - - - - - - -
7 KEERZH (2EH)
cS475— (1EB) 166 104 36 11 1 - 14 - 166 4.2
100.0 62.7 21.7 6.6 0.6 - 8.4 - 30.2
JE—4— (2@UL) 380 239 86 27 3 - 21 4 376 4.3
100. 0 62.9 22.6 7.1 0.8 - 5.5 1.1 68. 4
O % 8 5 1 2 - - - - 8 4.4
100.0 62.5 12.5 25.0 - - - - 1.5
SR B
JRERBEHRER (LA 225 135 50 16 - 23 1 224 4.1
100. 0 60.0 22.2 7.1 - - 10. 2 0.4 40. 7
BEREEE (BN 266 170 58 21 3 - 11 3 263 4.4
100.0 63.9 21.8 7.9 1.1 - 4.1 1.1 47.8
MESA (LY) 63 43 15 3 1 - 1 - 63 4.5
100. 0 68.3 23.8 4.8 1.6 - 1.6 - 11.5
O % - - - - - - - - - -
% -1-80




16 @EBERENXICHTHHE (LTEY - BER)
3 EHEH
x ® 3 ® x Z
% ® & ® % g
HE pot il = x AN Fiii2 i E
S 2 2 i i L & =
% % e
15
&
£ K 554 266 137 59 2 - 84 6 548 3.
100.0 48.0 24.7 10.6 0.4 - 15.2 1.1 100.0
ESHRR 114 40 35 18 1 - 19 1 113 3.
100.0 35.1 30.7 15.8 0.9 - 16.7 0.9 20.6
Bl Loy— 263 139 59 29 - - 33 3 260 3.
100.0 52.9 22.4 11.0 - - 12.5 1.1 47.4
R4 - fAEHRE 88 48 22 3 - - 13 2 86 3.
100.0 54.5 25.0 3.4 - - 14.8 2.3 15.7
1~3DENTHLHNWFDIM 88 39 20 9 1 - 19 - 88 3.
100.0 44.3 22.7 10. 2 1.1 - 21.6 - 16. 1
wmEE 1 - 1 - - - - - 1 4.
100.0 - 100.0 - - - - - 0.2
B (BRI 7)
dtiEE - ®i 17 6 3 3 - 5 - 17 3.
100.0 35.3 17.6 17.6 - - 29.4 - 3.1
5SS 156 65 38 14 - - 35 4 152 3.
100.0 41.7 24. 4 9.0 - - 22.4 2.6 27.17
JeE - hEp 94 52 18 10 - - 14 - 94 3.
100.0 55.3 19.1 10.6 - - 14.9 - 17.2
E3)ic] 91 47 27 9 - - 7 1 90 4.
100.0 51.6 29.7 9.9 - - 1.7 1.1 16.4
tE - "E 25 10 10 4 - - 1 - 25 4.
100.0 40.0 40.0 16.0 - - 4.0 - 4.6
A - kR (BIREBEUS) 126 68 28 13 1 - 16 - 126 3.
100.0 54.0 22.2 10. 3 0.8 - 12.7 - 23.0
EREER 45 18 13 6 1 - 6 1 44 3.
100.0 40.0 28.9 13.3 2.2 - 13.3 2.2 8.0
mEE - - - - - - - - -
M - B (ERSEL
2R 52 3 4 6 - - 9 - 52 3.
100.0 442 26.9 11.5 - - 17.3 - 41.3
EEE 6 3 2 1 - - - - 6 4.
100.0 50.0 33.3 16.7 - - - - 4.8
RIFE 10 6 1 3 - - - - 10 4.
100.0 60.0 10.0 30.0 - - - - 7.9
AR 28 17 8 - - - 3 - 28 4.
100.0 60. 7 28.6 - - - 10.7 - 22.2
RHE 7 6 - 1 - - - - 7 4.
100.0 85.7 - 14.3 - - - - 5.6
=y = 13 1 1 1 - - 4 - 13 3.
100.0 53.8 1.7 1.7 - - 30.8 - 10. 3
HEEE 10 6 2 1 1 - - - 10 4.
100.0 60.0 20.0 10.0 10.0 - - - 7.9
mEE - - - - - - - - -
B2 &8
20mARLT 81 38 18 10 - - 14 1 80 3.
100.0 46.9 22.2 12.3 - - 17.3 1.2 14.6
3 0t 77 42 16 7 1 - 11 - 17 3.
100.0 54.5 20.8 9.1 1.3 - 14.3 - 14.1
4 Ot 83 40 24 8 - - 1 - 83 3.
100.0 48.2 28.9 9.6 - - 13.3 - 15.1
5 0mft 134 61 39 13 - - 20 1 133 3.
100.0 45.5 29.1 9.7 - 14.9 0.7 24.3
6 Ot 97 51 22 9 - - 13 2 95 3.
100.0 52.6 22.7 9.3 - - 13.4 2.1 17.3
7 0FALLE 75 30 16 11 1 - 15 2 73 3.
100.0 40.0 21.3 14.7 1.3 - 20.0 2.7 13.3
EME 7 4 2 1 - - - - 7 4.
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